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QUESTION 1

Which new connection type is available as of SAP BusinessObjects Data Services 4.0?
A. Operational Data Provider

B. Read table via ABAP data flows

C. IDOCs

D. BAPI function calls

Correct Answer: A

QUESTION 2

Cost of goods sold (COGS) split functionality is available in account-based COPA. Which settings are necessary? There
are 2 correct answers to this question.

A. Cost elements must be mapped to cost components.

B. Operating concern currency must be determined.

C. The corresponding cost elements must exist in the chart of accounts.
D. Characteristic values and characteristic groups must be maintained.

Correct Answer: AC

QUESTION 3

Your customer creates full balance sheets on profit center level. You transfer costs between cost centers within the
company code and the profit center changes. Which accounts are displayed in the G/L view?

A. G/L account defined in reconciliation ledger Zero-balance clearing account

B. G/L account defined in real-time-integration CO-FI Original cost account

C. G/L account defined in real-time-integration CO-FI Zero-balance clearing account
D. Original cost account Zero-balance clearing account

Correct Answer: D

QUESTION 4
Why do you call S/4 HANA an Agile approach?

A. Because of Real time process.
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B. Because of new Account based COPA.
C. Because of index /total tables removed.
D. Because of New Cash Management.

Correct Answer: A

QUESTION 5

SAP S/4HANA can run on an SAP HANA database only. Determine whether this statement is true or false.
A. False

B. True

Correct Answer: B
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